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301/FAR (301) epjp mwpf;ifaply; 

 
 
 
 
 
 
 
 
 
 
 
 
 

ehd;F (04) fl;lhatpdhf;fs;  
(nkhj;jk; 20 Gs;spfs;) 

 

tpdh 01 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  

mj;jpahak; - 1 

 
(a) 

(i) mwpf;ifaply; cupkk;. 

mwpf;ifaply; cupkk; vd;gJ epjp mwpf;iffisj; jahupf;f Njitg;gLk; my;yJ 

Nju;e;njLf;Fk; xU epWtdk; MFk;. ,e;j epWtdk; xU jdp epWtdk;> my;yJ xU 

epWtdj;jpd; xU gFjp my;yJ epWtdq;fspd; FOthf $l ,Uf;fyhk;.  

 

(ii) nghUshjhu tsk;. 
 
nghUshjhu tsk; vd;gJ nghUshjhu ed;ikfis cUthf;Fk; Mw;wiyf; nfhz;l 

xU cupik vd;W tiuaWf;fg;gLfpwJ.  

 
nghUshjhu tsj;jpd; Kf;fpa mk;rq;fs; gpd;tUkhW: 

 

nghUshjhu ed;ikfis cUthf;Ftjw;fhd rhj;jpaf;$Wfs;: xU epWtdj;jpw;F 

gzg;Gof;fk; my;yJ gpw nghUshjhu ed;ikfSf;F NeubahfNth my;yJ 

kiwKfkhfNth gq;fspf;Fk; jpwd; tsj;jpw;F ,Uf;f Ntz;Lk;. 

 
fl;Lg;ghL: epWtdk; tsj;jpd; kPJ fl;Lg;ghl;ilf; nfhz;bUf;f Ntz;Lk;> mjhtJ 

mJ tsj;jpd; gad;ghl;il topelj;j KbAk; kw;Wk; mjpypUe;J ed;ikfis 

mZFtij kw;wtu;fs; fl;Lg;gLj;jyhk;. 

 

cupik: nghUshjhu tsk; vd;gJ me;j epWtdk; itj;jpUf;Fk; cupikiaf; 

Fwpf;fpwJ> ,J rl;lG+u;tkhdjhfNth> xg;ge;j uPjpahfNth my;yJ epWtg;gl;l 

eilKiwfspd; mbg;gilapy; ,Uf;fyhk;. 

(03 Gs;spfs;) 
 

gFjp - A 

,yq;if fzf;fPl;L njhopEl;gtpayhsh;fs; fofk; 

kl;lk;  III guPl;ir – [{iy 2024 

 (301) epjp mwpf;ifaply; 

gupe;Jiuf;fg;gl;l tpilfs; 
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301/FAR (301) epjp mwpf;ifaply; 

(b) 
nghJ Nehf;f epjp mwpf;ifapd; Nehf;fk;> jw;Nghija KjyPl;lhsu;fs;> fld; 

toq;Fgtu;fs; kw;Wk; gpw fld; toq;Feu;fSf;F KbntLg;gjpy; gaDs;sjhf 

,Uf;Fk; tifapy; mwpf;ifapLk; epWtdj;ijg; gw;wpa epjp jfty;fis 

toq;FtjhFk;. 

(02 Gs;spfs;) 
(nkhj;jk; 05 Gs;spfs;) 

 
tpdh 02 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; : 
 
mj;jpahak; - 1 

(a) 
 

1. epjp %yjdk;: epjp %yk; ngwg;gl;l my;yJ nray;ghLfs; my;yJ KjyPLfs; 

%yk; cUthf;fg;gLk; nghUl;fspd; cw;gj;jp my;yJ Nritfis toq;Ftjpy; 

gad;gLj;j xU epWtdj;jpw;F fpilf;Fk; epjpiaf; Fwpf;fpwJ. 

 

2. kdpjts %yjdk;: epWtdj;jpw;Fs; cs;s kf;fspd; jpwd;fs;> mDgtk; kw;Wk; 

GJikf;fhd mtu;fspd; Cf;fq;fis cs;slf;fpaJ. 

 

3. ,aw;if %yjdk;: fhw;W> ePu;> epyk;> fdpkq;fs; kw;Wk; Rw;Wr;#oy; mikg;Gfs; 

Nghd;w nghUl;fs; my;yJ Nritfis toq;Fk; midj;J GJg;gpf;fj;jf;f kw;Wk; 

GJg;gpf;f Kbahj Rw;Wr;#oy; tsq;fs; kw;Wk; nray;Kiwfis ,J 

gpujpepjpj;Jtg;gLj;JfpwJ. 

(03 Gs;spfs;) 
(b) 

 mikg;igg; gw;wpa tpupthd ghu;itia toq;FtJ: xU epWtdj;jpd; 

je;jpNuhghak;> MSif> nray;jpwd; kw;Wk; tha;g;Gfs; FWfpa> eLj;ju kw;Wk; 

ePz;l fhyj;jpw;F ngWkjp cUthf;fj;jpw;F vt;thW gq;fspf;fpd;wd vd;gjw;fhd 

KOikahd jftiy gq;Fjhuu;fSf;F toq;Ftij xUq;fpize;j mwpf;if 

Nehf;fkhff; nfhz;Ls;sJ. 

 nghWg;Gf;$wy; kw;Wk; Nkw;ghu;itia Nkk;gLj;Jjy;: epjp kw;Wk; epjp my;yhj 

mk;rq;fs; Fwpj;j jfty;fisr; Nru;g;gjd; %yk;> xUq;fpize;j mwpf;if 

ntspg;gilj;jd;ik kw;Wk; nghWg;Gf;$wiy Cf;Ftpf;fpwJ> ,J epWtdj;jpd; 

nray;ghLfshy; ntt;NtW %yjdq;fs; vt;thW gad;gLj;jg;gLfpd;wd kw;Wk; 

ghjpf;fg;gLfpd;wd vd;gijg; Gupe;Jnfhs;s gq;Fjhuu;fis mDkjpf;fpwJ. 

 epjp %yjdj;ij toq;Fgtu;fSf;F fpilf;Fk; jfty;fspd; juj;ij 

Nkk;gLj;Jjy;> %yjdj;ij kpfTk; jpwikahd kw;Wk; tpidj;jpwdhfTk;  

xJf;fPL nra;a Cf;Ftpf;fpd;wJ. 

 $l;LwT epWtdq;fspd; mwpf;ifaplYf;F kpfTk; xj;jpirthd kw;Wk; jpwikahd 

mZFKiwia Cf;Ftpf;fTk;. 
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301/FAR (301) epjp mwpf;ifaply; 

 FWfpa> eLj;ju kw;Wk; ePz;l fhyj;jpw;F ngWkjpia cUthf;Ftjpy; ftdk; 

nrYj;Jk; xUq;fpize;j rpe;jid> KbntLg;gJ kw;Wk; nray;fis 

Mjupf;fpd;wJ. 

 
(02 Gs;spfs;) 

(nkhj;jk; 05 Gs;spfs;) 
 
tpdh 03 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; : 

mj;jpahak; - 2.1 

 
(a) 31 khu;r; 2024 ,y; cs;sthwhd gpw;Nghlg;gl;l tupg; nghWg;G: &.  1,290,000 

(03 Gs;spfs;) 

(b) 31 khu;r; 2024 ,y; Kbtile;j Mz;Lf;fhd tupr; nryTfs; : &. 1,420,000 

(02 Gs;spfs;) 
 

 

31 khu;r; 2024 ,y; Kbtile;j Mz;Lf;fhd gpw;Nghlg;gl;l tupr; nrhj;J/ nghWg;G  

 
jw;fhy NtWghL fzpg;gPl;il epu;zapj;jy; 

fhzp: 

fzf;fPl;L epfu ngWkjp= &.  8,000,000 

tup mbg;gil = &. 8,000,000 

jw;fhy NtWghL = &.  8,000,000 - &. 8,000,000 = &. 0 

Nkhl;lhu; thfdk;: 

fzf;fPl;L epfu ngWkjp = &.  6,500,000 

tup mbg;gil = fpuak;- tup Nehf;fj;jpw;fhd jpuz;l Nja;khdk; 

tup mbg;gil = &.  12,000,000 - &. 9,800,000 = &. 2,200,000 

jw;fhy NtWghL = &. 6,500,000 - &.  2,200,000 = &.  4,300,000 

 
gpw;Nghlg;gl;l tupg;nghWg;Gf; fzpg;gPL 

gpw;Nghlg;gl;l tupg;nghWg;G  = jw;fhy NtWghL × tup tPjk; 

 

gpw;Nghlg;gl;l tupg;nghWg;G  = &.  4,300,000 × 30%= 1,290,000 

 
31 khu;r; 2024 ,y; Kbtile;j Mz;Lf;fhd tupr; nryTfs;  

elg;G tupr; nryT = tupaplj;jf;f ,yhgk; × tup tPjk; 

elg;G tupr; nryT = &. 2,600,000 × 30% = &.780,000 

gpw;Nghlg;gl;l tupr;; nryT 

31 khu;r; 2024 ,y; gpw;Nghlg;gl;l tupg;nghWg;G  = &. 1,290,000 
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301/FAR (301) epjp mwpf;ifaply; 

01 Vg;uy; 2023 ,y; gpw;Nghlg;gl;l tupg;nghWg;G = &. 650,000 

gpw;Nghlg;gl;l tupr;; nryT = &.  1,290,000 - &.  650,000 

gpw;Nghlg;gl;l tupr;; nryT = &. 640,000 

nkhj;j tupr; nryTfs; = elg;G tupr; nryTfs; + gpw;Nghlg;gl;l tupr;nryTfs; 

nkhj;j tupr; nryTfs; = &. 780,000 + &. 640,000 

 

nkhj;j tupr; nryTfs; = &. 1,420,000 

 

gpw;Nghlg;gl;l tup (&. ‘000) 

  kP/fP/t 650 

kP/fP/nr 1,290 ,.el;lk; 640 

 1,290  1,290 

 
 (nkhj;jk; 05 Gs;spfs;) 

 
tpdh 04 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; : 
 

mj;jpahak;  - 5.1 

 
KjyPL 125,000 

NCI 40,000 

 165,000 

Njwpa nrhj;Jf;fs; (136,000x110%) (149,600) 

ed;kjpg;G 15,400 

 
 (nkhj;jk; 05 Gs;spfs;) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

gFjp A KbT 
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301/FAR (301) epjp mwpf;ifaply; 

%d;W (03) fl;lhatpdhf;fs; 
(nkhj;jk; 30 Gs;spfs;) 

 

 

tpdh 05 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; : 
 

mj;jpahak; 2.2 

(a) epu;khzj;jpd; kPjhd epiwaspf;fg;gl;l ruhrupr; nryT 

 

 

1. XYZ tq;fpf; fld;: 

XYZ  tq;fpf;fhd fld;ngWiff; fpuak; =200,000×13%×11/12 = 23,833 tUlj;jpw;fhdJ 

2. ABC tq;fpf; fld;: 

ABC tq;fpapypUe;J %yjdkhf;fg;glNtz;ba fld;ngWiff; fpuak;  

     = 200,000 ×12% × 7/12 = 14,000 

%yjdkhf;fg;glNtz;ba fld;ngWiff; fpuak;  = 23,833 + 14,000 (Rs’000) 

                                                         = 37,833,000 

(04 Gs;spfs;)) 
(b) 
1. ,J xU rPuhf;fkw;w epfo;T. epWtdk; khu;r; 31>2024 cld; Kbtile;j Mz;bw;fhd 

epjp mwpf;iffspy; &. 50 kpy;ypad; mfw;Wjy; nryTfshf mq;fPfupf;ff; $lhJ. 

,Ug;gpDk;> epfo;tpd; jd;ik kw;Wk; Kbe;jhy; epjp jhf;fj;jpd; kjpg;gPL cs;spl;l 

jfty;fis epjp mwpf;iffspd; Fwpg;Gfspy; ntspg;gLj;jg;gl Ntz;Lk;. 

 
2. ,J xU rPuhf;fNtz;ba epfo;T. 2024 khu;r; 31 Mk; NjjpAld; Kbtile;j 

Mz;bw;fhd epjp mwpf;iffspy; 12 kpy;ypad; kpifA+jpak; xU nrythf 

mq;fPfupf;fg;gl Ntz;Lk;. 

 
3. ,J xU rPuhf;fkw;w epfo;T. khu;r; 31>2024 epytug;gb epjp mwpf;iffspy; 

KjyPLfspd; kjpg;ig epWtdk; rPuhf;ff;$lhJ. ,Ug;gpDk;> epfo;tpd; jd;ik kw;Wk; 

epjp jhf;fk; cs;spl;l jfty;fis epjp mwpf;iffspd; Fwpg;Gfspy; ntspg;gLj;jg;gl 

Ntz;Lk;. 

 
4. ,J xU rPuhf;fkw;w epfo;T. ,Wjp gq;fpyhgk; 31 khu;r; 2024 epytug;gb epjp 

mwpf;iffspy; xU nghWg;ghf mq;fPfupf;fg;glf;$lhJ. mjw;F gjpyhf> mJ epjp 

mwpf;iffspd; Fwpg;Gfspy; ntspg;gLj;jg;gl Ntz;Lk;. 

(06 Gs;spfs;) 
 (nkhj;jk; 10 Gs;spfs;) 

 
 

gFjp - B 

epiwaspf;fg;gl;l ruhrupr; nryT = nfhLg;gdT X ruhrupf; fhyf; fzpak; 
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301/FAR (301) epjp mwpf;ifaply; 

tpdh 06 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; : 
(a) 
 

mj;jpahak; 2.2 

31 khu;r; 2024 ,y; cs;sthwhd epfu ngWkjp: 

fPo;nfhzu;e;j ngWkjp= ngWkjp−jpuz;l Nja;khdk;=6,500,000−3,900,000=2,600,000 

LKAS 36 ,w;fika> rPu;kjpg;G ngWkjpapypUe;J mfw;wy; fpuaj;jpid fopj;j 

ngWkjpia gad;ghl;bYs;s ngWkjpAld; xg;gpLk; NghJ $ba ngWkjp Njwf;$ba 

ngWkjpahf fUjg;gLk;. 

rPu;kjpg;G ngWkjp - mfw;wy; fpuak;: &. 2,300,000 

gad;ghl;bYs;s ngWkjp: &. 2,400,000 

Njwf;$ba ngWkjp: 

Njwf;$ba ngWkjp= &.2,300,000 or &. 2,400,000 ,y; $baJ =2,400,000 

Nrj ,og;G = fPo;nfhzu;e;j ngWkjp – Njwf;$ba ngWkjp = 2,600,000−2,400,000 

=200,000 

 (05 Gs;spfs;) 
(b) 
mj;jpahak; 2.2 

 epak tpiy CLnray; tpiy 
fhw;W gjdkhf;fp 240,000 (240,000/384,000) x 360,000 = 225,000 

guhkupg;G 144,000 (144,000/384,000)x 360,000 = 135,000 

 384,000 360,000 

31 khu;r; 2024 ,y; Kbtle;j Mz;Lf;fhd tUkhdk; = 225,000 + 67,500 = 292,500 

31 khu;r; 2025 ,y; Kbtle;j Mz;Lf;fhd tUkhdk; = 67,500 

 
 (05 Gs;spfs;)) 

(nkhj;jk; 10 Gs;spfs;)) 
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301/FAR (301) epjp mwpf;ifaply; 

tpdh 07 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; : 
 
 

mj;jpahak; 3.2 

 
 
 
 
 
 
 

fhRg;gha;r;ry; $w;W 

nraw;ghl;L eltbf;ifapypUe;jhd fhRg;gha;r;ry; 

 

&. ‘000 

tup kw;Wk; tl;bf;F Kd;duhd ,yhgk; (30,300 – 8,075) 

 

22,225 

rPuhf;fk;: 

  tl;b  8,075 

Nja;khdk; (119,500 – (112,540 – 4,720)) 

 

11,680 

Nkhl;lhu; thfd mfw;wy; kPjhd el;lk; (W – 1) 

 

(8,020) 

gzpf;nfhil Vw;ghL  400 

  34,360 

tUkhd tup nrYj;jpaJ (W -2)  (369) 

  33,991 

njhopw;gL %yjd khw;wk;   

,Ug;G mjpfupg;G (6,816)  

ngWtdTfspd; Fiwg;G 77,829  

nrd;kjpfspd; FiwT (2,900) 68,113 

nraw;ghl;L eltbf;ifapypUe;jhd fhRg;gha;r;ry; 

 

102,104 

   KjyPl;L eltbf;ifapypUe;jhd fhRg;gha;r;ry; 

  Nkhl;lhu; thfd mfw;wy; ngWtdT 8,500  

Gjpa Nkhl;lhu;thfd nfhs;tdT (150,126 – (136,420 – 

5,200) (18,906)  

KjyPl;L eltbf;ifapypUe;jhd Njwpa fhRg;gha;r;ry; 

 

(10,406) 

   epjp eltbf;ifapypUe;jhd fhRg;gha;r;ry; 

  tl;b nrYj;jpaJ (W-3) (8,225)  

ngwg;gl;l ePz;lfhyf; fld; 5,000  

fld; kPs;nrYj;jpaJ (85,400)  

gq;fpyhgk; nrYj;jpaJ (1,873) (90,498) 

fhR kw;Wk; fhRf;F rkkhdtw;wpd; Njwpa mjpfupg;G 

 

1,200 

tUl njhlf;fj;jpYs;s fhR kw;Wk; fhRf;F rkkhdit 

 

12,300 

31 khur; 2024 ,y; cs;s fhR kw;Wk; fhRf;F rkkhdit 

 

13,500 
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301/FAR (301) epjp mwpf;ifaply; 

(w-1) mfw;wy; fzf;F ,yhgk; 

fpuak; 5,200 tpw;gidg; ngWtdT 8,500 

,yhgk; 8,020 jp.Nja;khdk; 4,200 

  Mz;Lf;fhd Nja;khdk; 520 

 13,220  13,220 
 
 

 

 
(nkhj;jk; 10 Gs;spfs;) 

 
 
 
 
 
 
 
 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(w-2) nrYj;jNtz;ba tUkhdtupf; fzf;F 

fhR 369 kP/fP/t 2,320 

kP/fP/nr 2,241 ,. el;lk; 290 

 2,610  2,610 

(w-3) nrYj;j Ntz;ba tl;bf; fzf;F  

fhR 8,225 kP/fP/t 1,600 

kP/fP/nr 1,450 ,. el;lk; 8,075 

 12,675  12,675 

gFjp B KbT 
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301/FAR (301) epjp mwpf;ifaply; 

%d;W (03) fl;lhatpdhf;fs; 
 ((nkhj;jk; 50 Gs;spfs;)  

 

tpdh 08 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; : 
 

mj;jpahak; 3.1 

 
(a) 

 
 (09 Gs;spfs;) 

(b)  
 

gpwpd;bq; nrhY~d;]; PLC 

31 khu;r; 2024 ,y; cs;sthwhd  

epjp epiyf; $w;W 

&.'000 

nrhj;Jf;fs;   

eilKiway;yh nrhj;Jf;fs;   

- Mjdk; nghwp cgfuzk; (Fwpg;G 1)  90,568 

gpwpd;bq; nrhY~d;]; PLC 

2024 khu;r; 31 ,y; Kbtile;j Mz;bw;fhd 

,yhg my;yJ el;l kw;Wk; gpw Kw;wlf;f tUkhdf; $w;W 

&.'000 

tpw;gid  255,000 

fop: tpw;gidf; fpuak;  (124,000) 

nkhj;j ,yhgk;  131,000 

Vida tUkhdk; (W-8)  9,100 

nryTfs;:   

- epu;thfr; nryTfs; (W- 2) 35,800  

- tpepNahfr; nryTfs; (W- 1) 58,432  

- epjpr; nryTfs; (W – 3) 27,100 (121,332) 

tupf;F Kd;duhd ,yhgk;  18768 

tUkhd tupr; nryTfs; (W – 9)  (5,600) 

tUlj;jpw;fhd ,yhgk;  13,168 

gpw Kw;wlf;f tUkhdk;:   

- kPs;kjpg;gPl;L kpif (fhzp)  3,000 

nkhj;j Kw;wlf;f tUkhdk;  16,168 

gFjp - C 
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301/FAR (301) epjp mwpf;ifaply; 

eilKiwr; nrhj;Jf;fs;   

- ,Ug;Gf;fs; 63,000  

- tpahghu tUkjpfs; 51,300  

- ,ae;jpu tpw;gid tUkjp 2,000  

- fhRk; fhRf;F rkkhditAk;  22,356  

nkhj;j eilKiwr; nrhj;Jf;fs;  138,656 

nkhj;j nrhj;Jf;fs;  229,224 

cupikfSk; nghWg;Gf;fSk; 

  cupik 

  - $wg;gl;l %yjdk; 125,000 

 - kPs;kjpg;gPl;L xJf;fk; 11,000 

 - iff;nfhs; ,yhgk; 43,168 179,168 

eilKiway;yh nghWg;G 

  - Fj;jif nghWg;G  

 

7,043.20 

eilKiwg; nghWg;Gf;fs; 

  - tpahghu nrd;kjpfs; 41,000 

 - nrYj;jNtz;ba tUkhd tup 400 

 - Fj;jifg;nghWg;G 1,612.80 43,012.80 

nkhj;j eilKiwfSk; nghWg;Gf;fSk; 

 

229,224 

 
 (08 Gs;spfs;) 

(c) 

gpwpd;bq; nrhY~d;]; PLC 

2024 khu;r; 31 ,y; Kbtile;j Mz;bw;fhd 

cupik khw;wf; $w;W 

(Rs. 000) 

tpguk; $wg;gl;l 

%yjdk; 

kPs;kjpg;gPl;L 

xJf;fk; 

iff;nfhs; 

,yhgk; 

nkhj;jk; 

01 Vg;uy; 2023 ,y; cs;s kPjp 125,000 8,000 30,000 163,000 

tUlj;jp;w;fhd ,yhgk; 

  

13,168 13,168 

kPs;kjpg;gPl;L kpif khw;wk; 

 

3,000 

 

3,000 

31 khu;r; 2024 ,y; cs;s kPjp 125,000 11,000 43,168 179,168 

 
(03 Gs;spfs;) 
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301/FAR (301) epjp mwpf;ifaply; 

(d) 

gpwpd;bq; nrhY~d;]; PLC 

2024 khu;r; 31 ,y; Kbtile;j Mz;bw;fhd 

Mjdk; nghwp cgfuz mirTf; $w;W 

&.'000 

tpguk; fhzp fl;llk; ,ae;jpuk; nkhj;jk; 

- 01 Vg;uy; 2023 ,y; cs;s kPjp 25,000 27,000 22,000 74,000 

- Nru;g;gdTfs;  38,400 10,000 48,400 

- mfw;wy;   (6,000) (6,000) 

- kPs;kjpg;gPL (fhzp 3,000   3,000 

31 khu;r; 2024 ,y; cs;s kPjp 28,000 65,400 26,000 119,400 

Nja;khdk;     

kP/fP/t  15,000 8,800 23,800 

mfw;wy;   (1,800) (1,800) 

Nja;khdk;  732 6,100 6,832 

31.03.2023 ,y; kPjp  15,732 13,100 28,832 

31 khu;r; 2024 ,y; fPo;nfhzu;e;j 

ngWkjp 

   90,568 

nra;Kiwfs;:  

 

 

 

 

 

 

 

 

 

 

 

(W-1) epu;thfr; nryTfs; 

guPl;ir kPjp 51,600 

Nja;khdk; - fl;llk; (W-6) 732 

- ,ae;jpuk; 6,100 

 58,432 

(W-2) tpepNahfr; nryTfs; 

guPl;ir kPjp 35,100 

tpahghu tUkjpf;fhd Vw;ghL (w-7) 700 

 58,432 

(W-3) epjpr; nryTfs; 

guPl;ir kPjp 25,100 

Fj;jif tl;b 2,000 

 58,432 
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301/FAR (301) epjp mwpf;ifaply; 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

(W-5) Fj;jif toq;Fdu; fzf;F 

fhR 3,344 Fj;jif 10,000 

kP/fP/nr 8,656 Fj;jif tl;b W-11 2,000 

 12,000 
 

12,000 

(W-4)  Nja;khdk; - ,ae;jpuk; 

mfw;wy; (6,000/5 x 9/12) 900 

GjpaJ(10,000/5) 2,000 

kPjp 3,200 

 6,100 

(W-6)  Nja;khdk; - fl;llk; 

Gjpa ((38,400/50) x 3/12) 192 

kPjp(27,000/50) 540 

 732 

(W-7) tpahghu tUkjp Vw;ghl;Lf; fzf;F  

fld;gl;Nlhu; 2,000 kP/fP/t 4,000 

kP/fP/nr 2,700 ,/e 700 

 4,700 
 

4,700 

(W-8)  Vida tUkhd fzf;F 

guPl;ir kPjp 8,300 

mfw;wy; kPjhd ,yhgk; 800 

 9,100 

(W-9) nrYj;jNtz;ba tUkhd tupf; fzf;F  

fhR 9,500 kP/fP/t 4,300 

kP/fP/nr 400 ,/e 5,600 

 9,900 
 

9,900 

(W-10) mfw;wy; fzf;F  

fpuak; 6,000 fhR 3,000 

,/e 800 nrd;kjpahsu; 2,000 

  
jpuz;l Nja;khdk; 

1,800 

 6,800 
 

6,800 
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301/FAR (301) epjp mwpf;ifaply; 

 
(05 Gs;spfs;) 

(nkhj;jk; 25 Gs;spfs;) 
 

tpdh 09 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; : 

mj;jpahak; - 04 
(a) 
 

  2023/2024 2022/2023 

nkhj;j ,yhg 

tPjk; 

nkhj;j ,yhgk; 

tpw;gid 

 

=  
84,500

210,000
𝑋 100 =  

 

= 40.24% 

=  
33,400

99,500
𝑋 100 =  

 

= 33.57% 

epfu ,yhg tPjk; tupf;F gpd; ,yhgk; 

tpw;gid 

 

=  
42,150

210,000  
𝑋 100 =  

 

= 20% 

=  
8,100

99,500  
𝑋 100 =  

 

= 8% 

tpiuTr; nrhj;J 

tpfpjk; 

eilKiwnrhj;J - ,Ug;G 

eilKiwg;nghWg;G 

=141,000-65,000 

:67,250 

=1.13:1 

=76,400 -35,000:25,000 

=41,400 : 25,000 

fld;gl;Nlhu; 

Nrfupg;Gf; fhyk; 

ruhrup f.gl;Nlhu; 

fld; tpw;gid 

 

=  
30,500

210,000
𝑋 365 =  

 

= 53 ehl;fs; 

=  
28,000

99,500 
𝑋 365 =  

 

= 103 ehl;fs; 

W -11 Fj;jif ml;ltiz 
tUlk; kP/fP/t tl;b jtizf; 

fl;lzk; 
%yjdk; nrYj;j 

Ntz;ba kPjp 

1 10,000 2,000 3,344 1,344 8,656 

2 8,656 1,731.20 3,344 1,612.80 7,043.20 

3 7,403.20 1,408.64 3,344 1,935.36 5,107.84 

4 5,107.84 1,021.57 3,344 2,322.43 2,785.41 

5 2,785.41 557 3,344 2,786 - 

X 365 

X 100 

X 100 
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301/FAR (301) epjp mwpf;ifaply; 

njhf;F ,Ug;Gf; 

fhyk; 

ruhrup ,Ug;G 

tpw;gidf; fpuak; 

 

50,000

125,500
𝑋 365  

 

= 145 ehl;fs; 

37,500

66,100
𝑋 365 = 

= 207 ehl;fs; 

gq;nfhd;wpd; 

tUtha; 

tupf;F gpd; ,yhgk; 

gq;Ffspd; vz;zpf;if 

 

42,150

1,250 
 

 

&. 33.72 

8,100

1,250 
 

&. 6.48 

(10 Gs;spfs;) 
(b) epu;thfj;jpw;F RUf;fkhd mwpf;if 
 

1. nkhj;j ,yhg tpfpjk;  

2024 : 40.24% vjpuhf 2023 : 33.56% 

nkhj;j ,yhg tpfpjk; fzprkhf mjpfupj;jJ> ,J nryT Kfhikj;Jtk; my;yJ 

tpw;gid tpiyfspd; mjpfupg;G Mfpatw;wpd; mbg;gilapy; mjpfupj;j ,yhgj;ij 

Fwpf;fpwJ. ,J rpwe;j nryTf; fl;Lg;ghL> mstpd; nghUshjhuk; my;yJ rhjfkhd 

re;ij epiyikfs; fhuzkhf ,Uf;fyhk;. 

 
2. epfu ,yhg tpfpjk; 

• 2024 : 20.07% vjpuhf 2023 : 8.14% 

epfu ,yhg tpfpjj;jpy; $u;ikahd cau;T rpwe;j xl;Lnkhj;j ,yhgj;ij 

gupe;Jiuf;fpwJ> ,J mjpfupj;j nray;jpwd; kw;Wk; tpw;gid myFfspd; mjpfupg;G 

vd;gtw;why; Vw;gl;Ls;sJ. ,yhgj;Jld; njhlu;Gila tl;br; nryTfspy; 

Fwpg;gplj;jf;f Fiwg;Gk; ,e;j Kd;Ndw;wj;jpw;F gq;fspj;jJ. 

 
3. tpiuT nrhj;Jf;fs; tpfpjk; 

• 2024 : 1.13 vjpuhf 2023 : 1.64  

 

tpiuT tpfpjk; Fiwe;Js;sJ> epWtdk; mjd; FWfpa fhy nghWg;Gfis G+u;j;jp 

nra;a xg;gPl;lstpy; Fiwe;j jput nrhj;Jf;fs; cs;sd vd;gij Fwpf;fpwJ. ,e;j 

tPo;r;rp eilKiwg; nghWg;Gfspd; mjpfupg;G my;yJ Fiwe;j rhjfkhd jputj;jd;ik 

epiyiaf; Fwpf;fpwJ. 

 

4. fld;gl;Nlhu; Nrfupg;Gf; fhyk;  

• 2024 : 53 ehl;fs; vjpuhf 2023:103 ehl;fs;  

fld;gl;Nlhu; Nrfupg;Gf; fhyj;jpy; Vw;gl;l Kd;Ndw;wk; tpiuthd Nrfupg;igf; 

Fwpf;fpwJ> ,J fhRg;gha;r;ry; Kfhikf;F rhjfkhd mwpFwpahFk;. ,jw;F Nkk;gl;l 

fld; fl;Lg;ghL my;yJ tYthd thbf;ifahsu; cwTfs; fhuzkhf ,Uf;fyhk;. 

 

X 365 
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301/FAR (301) epjp mwpf;ifaply; 

5. njhf;F ,Ug;G fhyk; 

• 2024:145 ehl;fs; vjpuhf 2023:207 ehl;fs;  

njhf;F ,Ug;G fhyj;jpd; Fiwg;G XusT tpiuthd ,Ug;G tUthiaf; Fwpf;fpwJ> 

,J kpfTk; jpwikahd ,Ug;G Kfhik my;yJ tYthd tpw;gidia Fwpf;fyhk;. 

 
6. xU gq;Ff;fhd tUtha; (EPS)  

• 2024: &. 33.72 vjpuhf 2023: &. 6.48  

EPS fzprkhf mjpfupj;Js;sJ> ,J epWtdj;jpd; mjpf ,yhgj;ij gpujpgypf;fpwJ. 

,J KjyPl;lhsu;fSf;F rhjfkhd vz;zq;fis Njhw;Wtpf;Fk;.  ,J xU 

gq;Ff;Ff;fhd re;ij ngWkjpia mjpfupf;Fk;. 

 
 (05 Gs;spfs;) 

(nkhj;jk; 15 Gs;spfs;) 

tpdh 10 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; : 

mj;jpahak;; - 5.2  
 

31 khu;r; 2024 ,y; Kbtile;j Mz;Lf;fhd 

Kw;wlf;f tUkhdf; $w;W 

  (&. ‘000) 

tpw;gid (800,000 + 500,000 – 144,000)  1,156,000 

tpw;gidf; fpuak; (465,000 + 225,000 – 144,000)  (546,000) 

Njwhj ,yhgk; (7,500)  (7,500) 

nkhj;j ,yhgk;  602,500 

Vida tUkhdk;   

Kfhikf; fl;lzk; kw;Wk; tl;b tUkhdk; 

(3,600+1,200-3,600) – 1,200) 

 - 

M.ngh.c mfw;wy; kPjhd ,yhgk; (9,500 +1,900 -

800) 

 10,600 

  613,100 

fop: nryTfs;   

tpepNahf nryTfs; (64,000 + 134,000) (198,000)  

epu;thf nryTfs; (114,000+98,000-160-3,600) (208,240)  

epjpr; nryTfs; (12,000+21,000-1,200) (31,840) (438,040) 

Vida nryTfs; - Nrj ,og;G  (2,000) 

tupf;F Kd; ,yhgk;  173,060 

tUkhd tup (41,000 + 5,100)  (46,100) 
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301/FAR (301) epjp mwpf;ifaply; 

tupf;F gpd; ,yhgk;  126,960 

Vida Kw;wlf;f tUkhdk; (14,000 + 3,200)  1,800 

nkhj;j Kw;wlf;f tUkhdk;  128,760 

 
 

(W-1) Njwhj ,yhgk; = 45,000 X 20  = 7,500   
 
(w-2) Nja;khdk;  = 8,000 x 1/5 = 1,600 

                                              120 

                                 = 7,200 x 1/5 = (1.440) 

                                                               160 

 
 

(nkhj;jk; 10 Gs;spfs;)  

gFjp C KbT 
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301/FAR (301) epjp mwpf;ifaply; 

Notice:  
 
These answers compiled and issued by the Education and Training Division of AAT Sri Lanka 

constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should 

not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 

fundamental objective of this publication is to add completeness to its series of study texts, designs 

especially for the benefit of those students who are engaged in self-studies. These are intended to 

assist them with the exploration of the relevant subject matter and further enhance their understanding 

as well as stay relevant in the art of answering questions at examination level. 
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